REGER (B

&bt (EEHIRKR) )

| THET#1 4 | Figk |
| #EERZ | 19:40 |
EA
EE) 5 = B
BELAFEEHR 22 780 A 25 565 A 48,345 A
REER 10, 413 X 11,199 X 21,612 A
MR LEREEH 5 401 A 5,358 A 10,759 X
HBEAREEH 4,930 A 5767 A 10,697 A
FHEEREER 82 A 74 A 156 A
ZIEER 12,367 A 14,366 A 26, 733 A
RER 45.71 % 43.81 % 4470 %
£
EE) 5 = B
BELEHEEHR 28 A 61 A 89 A
REER T A 4N 5 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN T A 4 A 5 A
EEEREEHN 0 A 0 A 0 A
ZIEER 27 N 57 A 84 A
RER 3.57 % 6.56 % 5.62 %
B+ &5
E) E & 5
BELOHEEHR 22 808 A 25 626 A 48,434 A
REERK 10, 414 X 11,203 X 21,617 A
ZIEEHN 12,394 A 14,423 A 26,817 A
RER 45.66 % 43.72 9% 44.63 %




